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FE

|[:v K& [zilz] ouT IN | GROSS| HDCP | NET
7101 | 15 —X A 51 47 98 24.0 | 74.0
7241 | &b Al =R 43 37 80 6.0 74.0
73 | A 1E RO 42 43 85 10.8 | 74.2
74 | EBAK iG] 04l 47 44 91 16.8 | 74.2
7501 | 7KK B= £e-x 45 40 85 10.8 | 74.2
7641 i) Bl &L 45 46 91 16.8 | 74.2
7741 | =l HiE bl [3 37 36 73 +1.2 | 74.2
781 | WA RE 974 47 44 91 16.8 | 74.2
79I |fEAAR AN A 43 41 84 9.6 74.4
801 | =R % £z 44 40 84 9.6 74.4
8141 I+ EFN A 37 41 78 3.6 74.4
821 | b =8B sk 47 48 95 20.4 | 74.6
83f | HH HE £e-x 41 42 83 8.4 74.6
84 | HBH Bia 7 40 37 77 2.4 74.6
85 | A4 1A I3 38 39 77 2.4 74.6
86fi |/IMEH 2 b2 38 39 77 2.4 74.6
87 | TEIE g S 44 44 88 13.2 | 74.8
88fiz | Alll SR EOF 36 40 76 1.2 74.8
8911 bad A = 44 43 87 12.0 | 75.0
90f | HE E& it 41 39 80 4.8 75.2
oL | WE S 04l 42 44 86 10.8 | 75.2
92fi | TEAY (4 &E 43 49 92 16.8 | 75.2
931 | AP A5 A 43 37 80 4.8 75.2
o4 | HIE &— 04y 40 40 80 4.8 75.2
951 | fhmE B4 a8 41 38 79 3.6 75.4
96fi | Sk i k-2 43 42 85 9.6 75.4
971 | HEXR & =5 39 40 79 3.6 75.4
98fi | L FI% M-7° 41 44 85 9.6 75.4
99fi1 | &I AT £e-x 36 43 79 3.6 75.4
1004 | I (=4 3] 41 44 85 9.6 75.4
10147 | B BN EOH 41 38 79 3.6 75.4
102 | —& 78 IR 42 42 84 8.4 75.6
1031z | A 1EF o] 44 52 96 20.4 | 75.6
10447 | EH =IE ES):) 46 43 89 13.2 | 75.8
1051z | =)II —i8 =R 49 52 101 25.2 | 75.8
1064 | Fi#k 1E 3] 40 42 82 6.0 76.0
10747 | POBE EZ 04l 36 40 76 0.0 76.0
108 | HE  F—H8B A 46 47 93 16.8 | 76.2
1091 | FiR 1£8) L8 43 44 87 10.8 | 76.2
11047 | &3¢ = 04y 45 42 87 10.8 | 76.2
11147 | A o FIA 44 48 92 15.6 | 76.4
11247 | IWF ] k-2 44 48 92 15.6 | 76.4
11317 | WA el ESO):] 45 41 86 9.6 76.4
11447 | i Al =5 39 52 91 144 | 76.6
11547 | #k BA b4 50 41 91 14.4 | 76.6
11641 | 1B B k-2 44 45 89 12.0 | 77.0
11747 | A9H B [E39) 41 48 89 12.0 | 77.0
11847 | &SP BE k-2 48 51 99 21.6 | 77.4
11947 | HE 15 ESO):] 47 40 87 9.6 77.4
12047 | ¥R BE [EESY) 43 38 81 3.6 77.4
12147 | X% & [E39) 39 51 90 12.0 | 78.0
1227 | i =2 37" 42 42 84 6.0 78.0
12311 | 7R NE 04l 47 42 89 10.8 | 78.2
12447 | B 1 k-2 43 45 88 9.6 78.4
1254 | =EE fi2ig L8 45 43 88 9.6 78.4
1264 | BB g 7 46 42 88 9.6 78.4
12741 | #HE =3B T 50 49 99 20.4 | 78.6
12847 | £F RZR LA 42 48 90 10.8 | 79.2
12947 | D i) sk 51 50 101 21.6 | 79.4
1304 | &4 %7) 01l 47 41 88 8.4 79.6
13147 | BB NG £z 42 55 97 16.8 | 80.2
1324 | =)l AHE L& 51 50 101 20.4 | 80.6
1331 | % ¥ ] 44 45 89 8.4 80.6
13447 | kA2 AR aE 50 49 99 18.0 | 81.0
135 | E& A (B4 57 61 118 36.0 | 82.0

g A2 K& il ouT IN | GROSS| HDCP [ NET
BB | ER x= FIA 38 40 78 8.4 69.6
HER | tH BRiE =E 42 47 89 19.2 | 69.8

3 i =5 b (03 38 39 77 7.2 69.8

AL SRR B A 42 40 82 12.0 | 70.0

5 IR BhER 9974 44 37 81 10.8 | 70.2

6L =K pan:l FIA 39 42 81 10.8 | 70.2

7 | MK RA 9974 48 45 93 22.8 | 70.2

8L aH it 04l 37 38 75 4.8 70.2

oz | S i L& 44 42 86 156 | 70.4
1047 | =% B fau) 44 41 85 14.4 | 70.6
1147 |FAM X= k-3 39 39 78 7.2 70.8
1247 | B 5EE] E0)::] 41 37 78 7.2 70.8
1347 = SIS EDif 39 38 77 6.0 71.0
1441 | X 5 =2 36 41 77 6.0 71.0
1547 | AR £ &1 37 40 77 6.0 71.0
1647 | R REL [ 42 40 82 10.8 | 71.2
1741 | 8035 —H k-3 42 40 82 10.8 | 71.2
184 | &K [2ES g 37 39 76 4.8 71.2
1947 | AWK ZR 1H7E 40 41 81 9.6 71.4
20fi7 | HD BEp 9974 39 42 81 9.6 71.4
21 | EXF @ EDif 38 37 75 3.6 71.4
221 | =2eh k=) 2R 42 39 81 9.6 71.4
2361 | K& 5N FEA 52 46 98 26.4 | 71.6
244 | iy b7 SE 39 41 80 8.4 71.6
2561 | $%F 3 FEA 39 46 85 13.2 | 71.8
26f | FA EES M-7° 44 47 91 19.2 | 71.8
2761 | PE aF S 44 46 90 18.0 | 72.0
28fi | BEER = FIA 38 40 78 6.0 72.0
2907 | AR K& IR 40 37 77 4.8 72.2
30 | & EbE L& 42 41 83 10.8 | 72.2
311 | %A fEE (34 38 39 77 4.8 72.2
32 | BEER GBS IR 37 46 83 10.8 | 72.2
331 | &K EH =E 47 42 89 16.8 | 72.2
3447 | ML —th EOH 39 43 82 9.6 72.4
357 | M 758 £-3 36 40 76 3.6 72.4
36fi | BE i =% 42 39 81 8.4 72.6
3761 | #H =58 T 45 42 87 14.4 | 72.6
38f | AH [ 220N 40 41 81 8.4 72.6
39 | &K RiE £-3 37 38 75 2.4 72.6
406 | TR HE 220N 40 41 81 8.4 72.6
4141 | &K PEE =E 41 39 80 7.2 72.8
420 | Ba —3h ZEN 39 41 80 7.2 72.8
434z | &)l 5hBR b2y 44 42 86 13.2 | 72.8
4441 | /\H HEp (eSS 54 50 104 31.2 | 72.8
4541 | & RX FEA 39 40 79 6.0 73.0
46fi | thH =8B =5 44 41 85 12.0 | 73.0
4741 | PIE /S T 41 44 85 12.0 | 73.0
48 | TEA JSE 04l 40 45 85 12.0 | 73.0
494 | 1B EE EDil 39 40 79 6.0 73.0
50fi | fERE 218 ZEN 48 43 91 18.0 | 73.0
5161 | /vl 1EFE FEA 43 42 85 12.0 | 73.0
52 | BRH £ #hith 40 44 84 10.8 | 73.2
531 | &0 IS5 FEA 43 41 84 10.8 | 73.2
541 | KB 2% 01l 37 41 78 4.8 73.2
550 | g [ £-3 43 41 84 10.8 | 73.2
56f | =R =36 #hith 47 49 96 22.8 | 73.2
5711 | =& #a =E 39 39 78 4.8 73.2
58fi | PIEF h= i 37 41 78 4.8 73.2
59fi1 | A Fth b3 41 37 78 4.8 73.2
60fiL | /I = EOH 38 45 83 9.6 73.4
61 | &F AR FEA 39 38 77 3.6 73.4
621 | FH PERY FIA 47 41 88 14.4 | 73.6
63 | K& BEZ 04l 47 47 94 20.4 | 73.6
6441 | HJIH 19 01 47 47 94 20.4 | 73.6
6561 | FI STE b2 40 47 87 13.2 | 73.8
66411 K #ha SE 44 49 93 19.2 | 73.8
67 | AKX §FR b2 50 43 93 19.2 | 73.8
681 | iy = SE 41 46 87 13.2 | 73.8
69fi7 | JL%F BRE =E 42 39 81 7.2 73.8
7061 | Hx BUR FIA 38 43 81 7.2 73.8




